LAKELAND VILLAGE GOLF COURSE, INC. has agreed to continue its services for LAKELAND VILLAGE WATER COMPANY, INC. This contract shall run for the full year of 2009, unless sooner renegotiated. Effective date shall be January 1st, 2009.

Services provided include meter reading and use of vehicles for carrying out duties.

LAKELAND VILLAGE WATER COMPANY, INC. agrees to pay LAKELAND VILLAGE GOLF COURSE, INC. a monthly service fee of \$1675.00 due on the first day of the month. This represents no increase from the previous year.

AGREED TO by both parties this 7th day of January 2009.

LAKELAND VILLAGE GOLF COURSE, INC.

Richard A. Anderson, President

By: Steven D. Anderson, President

COMPANY, INC.

LAKELAND VILLAGE WATER

PO Box 108, Allyn, WA 98524

PO Box 108, Allyn, WA 98524 (360) 275-2442

(360) 275-2474

Bv:

LAKELAND VILLAGE GOLF COURSE, INC. has agreed to continue its services for LAKELAND VILLAGE WATER COMPANY, INC. This contract shall run for the full year of 2010, unless sooner renegotiated. Effective date shall be January 1st, 2010.

Services provided include meter reading and use of vehicles for carrying out duties.

LAKELAND VILLAGE WATER COMPANY, INC. agrees to pay LAKELAND VILLAGE GOLF COURSE, INC. a monthly service fee of \$1025.00 due on the first day of the month.

AGREED TO by both parties this 6th day of January 2010.

LAKELAND VILLAGE GOLF COURSE, INC.

COMPANY, INC.

By: Steven D. Anderson, President

By: Richard A. Anderson, President

PO Box 108, Allyn, WA 98524 (360) 275-2474

PO Box 108, Allyn, WA 98524 (360) 275-2442

LAKELAND VILLAGE WATER

ANDERSON & SONS, INC. has agreed to continue its services for LAKELAND VILLAGE WATER COMPANY, INC. This contract shall run for the full year of 2010, unless sooner renegotiated. Effective date shall be January 1st, 2010.

Services provided include office administration, general surveillance and monitoring, and use of vehicle for carrying out duties. LAKELAND VILLAGE WATER COMPANY, INC. agrees to pay ANDERSON & SONS, INC. a

AGREED TO by both parties this 6th day of January 2010.

monthly service fee of \$3550.00 due on the first day of the month.

(360) 275-2474

Steven D. Anderson, President

Robert A. Anderson, Secretary

PO Box 108, Allyn, WA 98524 PO Box 108, Allyn, WA 98524

(360) 275-2442

ANDERSON & SONS, INC. LAKELAND VILLAGE WATER COMPANY, INC.

ANDERSON & SONS, INC. has agreed to continue its services for LAKELAND VILLAGE WATER COMPANY, INC. This contract shall run for the full year of 2009, unless sooner renegotiated. Effective date shall be January 1st, 2009.

Services provided include office administration, general surveillance and monitoring, and use of vehicle for carrying out duties. LAKELAND VILLAGE WATER COMPANY, INC. agrees to pay ANDERSON & SONS, INC. a

This represents no increase from the previous year. AGREED TO by both parties this 7th day of January 2009.

monthly service fee of \$1875.00 due on the first day of the month.

ANDERSON & SONS, INC.

LAKELAND VILLAGE WATER COMPANY, INC.

Steven D. Anderson, President

PO Box 108, Allyn, WA 98524

PO Box 108, Allyn, WA 98524

(360) 275-2442

(360) 275-2474

Robert A. Anderson, Secretary

RENTAL AGREEMENT

ANDERSON & SONS, INC. has been providing the LAKELAND VILLAGE WATER COMPANY, INC. with maintenance shop and storage facilities together with office space including fax, copier, internet and telephone services at no cost. A monthly rental fee of \$300 shall be charged effective August 1st, 2010. LakeLand Village Water Company, Inc. agrees to pay this rental fee on the first of each month.

AGREED TO by both parties this 14th day of July, 2010

ANDERSON & SONS, INC.

Robert A. Anderson, Secretary

PO Box 108, Allyn, WA 98524 (360) 275-2474

LAKELAND VILLAGE WATER COMPANY, INC.

Steven D. Anderson, President

PO Box 108, Allyn, WA 98524 (360) 275-2442